BEREMPRETEHIE (FRMIG) WK THTE 58 158 (K)

FE
B & E i = E B =z {E £ H
= = RO
(t) ATRE® (M) (M) (M) (kg)
VA 53.2 BERE 53.1 1,080 864 756 10 A
1IZALCA 24.3 £ 15 18.6 1,728 - 1,458 10| vay L
E) 28 BERE 2.3 4320 — 3,780 10 A M
ES) B K 0.4 2,268 - 2,106 3l A L
[E<E0Y 32.2 BERE 31.3 - 648 — 150 A 6
HTE 3.3 BERE 1.7 1,944 1,080 378 4 A M
CEDH 8.6 BERE 5.4 1,836 1,080 864 4f A M
Fry 149.3 BERE 131.3 324 — 216 10] A 8
Fry = % 18.0 - 216 - 100 A 8
IEF5NhAZS 45 BERE 1.6 2,376 2,160 1,404 4 A M
hE 10.9 BERE 6.4 1,404 1,080 972 3l A L
_hE 2.0 &= B 1.5 3,240 1,728 1,620 3 M
ch¥E BRE 0.3 130 — 119 05 A M
125 3.0 ElE 1.3 1,620 - 1,350 5] A M
L) — 1.0 2 [ 0.5 3,456 - 3,024 10] A L
T RAINTGHR 0.7 FEES 0.5 — 238 - 01] vay M
H)I57— 0.7 FEES 0.6 1,080 756 756 6] A 6
JOyal)— 29.7 2 [ 0.5 - 1,836 - 6] O
LAR 39.3 £ 5 19.9 972 702 648 10 12
FoT YA 2.0 ERS 1.3 1,728 1,296 1,080 A L
ZpoY 21.9 BERE 17.9 1,728 864 756 5/ A L
=il =l 3.6 1,404 972 972 5 A M
M EL b 12.9 ERE 3.1 3,240 3,240 1,836 10
Al 44 BE K 25 1,728 — 1512 5/ A L
B =l 1.6 — 1,836 - 5] A LL
k< 18.3 BERE 12.2 1,188 1,080 972 4 B L
= B X 5.4 - 864 - 4 S
Ik 10.3 ERS 9.7 108 86 76 02] A M
I=kvhk BE X 0.5 2,160 - 1,728 3] vy PED)
F—< 21.8 ERE 21.0 5,400 3,942 2,700 10 A LM
E58ACL 0.7 BEE K 0.5 3,478 2,722 2,419 4l vay LL
*95 0.4 ERE 0.4 130 - 124 01] A M
12h5Y 1.9 BERE 1.9 2,376 1,296 1,296 3l A L
=PVAITFA 1.4 BERE 1.4 2,160 1512 1512 2 A
SPZAES 0.3 =5 - 1,620 — 1 A L
E—X 0.1 BERE 0.1 - 2,160 — 4] A L
ZoEDH 0.7 BERE 0.7 2592 — 2,160 40 A M
MALE 6.9 B X 5.4 3,186 3,024 2,808 5 S
IFhiLs 50.4 ERS 32.4 2,808 - 2,700 100 A L
IEhiLs BERE 2,808 — 2,700 10 A LL
[EhiLs BERE - 1,620 — 10 A L
IEFhiLs BERE — 1,620 - 100 A LL
IEhi L& R 15 18.0 — 648 - 10
AL 6.5 T & 6.3 - 3,780 - 10 © L
f-FhE 71.3 &= B 69.5 3,672 3,240 3,240 201 vy L
1IZAlZ< 0.7 F = 0.5 — 540 - 1 4L
52FLD 2.2 BERE 2.2 6,480 — 5,940 10 A M
HELLV=T 1.8 BERE 0.1 - 108 — 0.1 M
£LLV=T El 1.0 97 - 86 01] A M
ZDEET 3.7 =l 1.1 59 32 30 0.1 A
LoHL 2.8 12 [ 2.2 97 81 76 0.2
e T 612.8
BE
o A E ih = E & Z {E £ H
& B = RO
(t) AR=E® (M) (M) (M) (kg)
EMAHMI AT
INDRHBDA
HEEDHMNA 2.1 BERS 2.1 3,024 2,484 2,484 100 A
LEY 1.8 FA)AH 1.8 7,560 5,616 3,780 17 115
N 3.3 FA)AH 3.3 3,888 3,888 3,240 17 4
JL72)LY 0.2 T AUH 0.2 6,480 5,184 4,860 15 48
BR 0.7 FFrLL 0.7 5,292 - 1,944 10| 7hva M
YACE 14.7
DE=IIAN 1.5 ' & 1.5 6,480 6,480 5,940 10| MA
AL 8.8 5 & 8.8 - 5,400 - 10
Uh 0.2 BERE 0.2 — 454 — 025] A L
3EE
3% 2 [ 810 - 756 03[ ¢ LL
58 1.8 = I 1.2 4,860 3,780 3,780 5] A LL
SESE 0.1
To9I7F E B — 8,100 - 2| 7hva LL
To9I7F E & - 7,560 - 2| 7hva L
TI9IT B 1’ - 6,480 - 2| 7hva M
W2 4.0 ERS 2.7 432 302 302 025 A LL
A0 Et 34
7—ILA 0.6 % [ 0.1 2,581 2,527 2,322 1 ¥~ 6
7—IJLR = I - 2,700 - 4 2
FDAOY 2.6 EES 0.5 5,832 5,400 4,860 gl 19 L
ERRY N 9.9
ERRY 6.2 e 5.2 - 5,940 - 150 A 3L
cEET LML 3.7 BERE 3.7 — 3,888 — 10 A 4
INFF 13.4 EYEY 13.0 5,940 2,991 2,808 15
INAFvFIL 46 EYEY 45 3,240 2916 2,700 10 8
FOA41LY 1.8 - 1.8 5,076 4,752 4536 5.8 30
RERE 67.4




